
$,,g:rr:':'t''::, 

!'':,,;, 
:,::.;,oi* 

l'i 
u

oo
o

a

d
(.)

o

B9

i.B
dU
si,
hD"
trop
.E (\d$
b9p
otr-c c)eE

aql

aX

bU
(nO
o'd00c
.E C!

FH64
!6

-bts'Es

eurH
5do.i

!jH€.)
9tE=,
!o
-4ia.=Xq
tr00
o=
*otr>
=oo-

U<
-.j c.i

o
oz

!

la.
b.
c.

2a.

(05 Marks)
(05 Marks)
(06 Marks)

(x-1
(05 Marks)

r'= dt (cos m0 + sin m0) % -;;" ., (0s Marks)

(05 Marks)

(06 Marks)

(1, 1, -1) in the

(05 Marks)

b. Ir .or-'[I3#At[l]' prove ttrat 52y&.i1zn+ l)xyo+r *2n2y,:0 (06Marks)
{fih*1. "('/ ' ^1;--c. Find between the radiupffiand the tangentffie curve

m " ri r n , . n \ te-*u-.t

.i'+BfiSffrffiS&

lt sinh ffi ;T w -*--3
a-J a. trvaluate ^ ---- ;\. dr (05 Marks)x+0 xsin'"d. u'q&* 

ri
* ;*;a P'

'"'\" Module-2 m"lt sinhx.=ffi ;ry
x+0 xsin2"d n&,h,,*

"bfl-

b. If u : tog(x3 + y3 + * - 3*w)show thatr [# *.3.]' =d.L-.: (06 Marks)
kry d;md* aY o') *G* Y+z)2

wwl/\

tr, y: r sino'fl;.J z = r coso **r: 38il,ei (05 Marks)
,& $#' 'r *}{- ;.' ro-i$& W i:;:ii*"

{"*"r \ Itlh OR wdqffi' ffih. W iFffie.}- _d W oR
a. Obtainltiaclaurin's expqslhm? log(1 + 

"*) 
,*o * (05 Marks)

,, ^ I $ :*" ._'r r/* ;sqesfls

" *_-^,--_. lim ( a* +pn ic* +d* )"^ " :,;*i - F .^ r lim (r. +b^.i.* + d* )"* " 
tT*

o: iEvaluate - l :___ | -; " (06 Marks)
f**t*r x+0[ 'S 4 ) "

- qd 1..-.:= "i; " q A A
qftW ; tiri*i .eif / ..

'' ,@*-.;: /o_. au au auc. Ifu:F(*-ypl.-,r; i-x) prove thai"kl+?+?=0. (05Marks)qq Ax Ay Az

e%' ,' .%l&roo,rr"-:l-db

5 a. Aparticlemovesonthecu*;f =2f ,y:t2-4t,2:3t-5,wheret isthetime.Findthe
componentsofvelocityr eleration at t:1 inthedirectionof i.-:j+Zt. (05Marks)

b. Find the constant u, rgtt af F = y(*' +z)i+*(y' -r')j+2xy(z*xy)k is solenoidal.

/"{ld;ffi, / *\c. Prove that v.(OIF O(o, F)+ (v6)* F
1r:1:

s oR.
6 a. Find the H|,fictional derivative of $(x.y.z) = *yz + 4xz2 at the point

Jwelrtia
direcffifiofihe vector 2i- i-zk.
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b.

the scalar function $ such that F: VO.

c. Prove that div(curlF;: g

,"|

:::11*:SS

i$;:'Kg*lf-ortho gonal.
4

15MAT11

is irrotational. Also find

(06 Marks)

(05 Marks)

, (05 Marks)

(05 Marks)

(a and b are

(06 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

/E
Show that the vector field F - (z + sin y)i + (x cos y - rrrffi

.# ;::i&-

Module-4fuK.'.Tqry;5/
A

is self

(05 Marks)

(05 Marks)

(05 Marks)

indicate the nature,

(06 Marks)

is regular and
c. Reduce the

d.il

3x##il + 3x] + 2x rx, + 2xrx, - 2x rx, into canonical

rank,{tffi and signature ofthe OY;i:i;f;
form and


